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A. True
B. False

Answer: A

QUESTION: 65
The Date and Time Wizard can be used to do which operation? (Select all that apply)

A. Create a date/time variable from a string variable containing a date and time.

B. Construct a date/time variable by merging variables containing different parts of the
date or time.

C. Add or subtract values from date/time variables, including add or subtracting two
date/time variables.

D. Extract a part of a date or time variable.

Answer: A, B, C

QUESTION: 66
The output generated from the EXPLORE procedure includes various measures of
variability. Which of the following is not included in this output?

A. Median

B. Mode

C. Mean

D. Interquartile Range

Answer: A

QUESTION: 67
After reading from an Excel 2007 file, the data in IBM SPSS Statistics are as shown in
the figure below. Inspect the file and select the answer.
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A. The Data import was successful

B. The Data import was successful because IBM SPSS Statistics cannot Excel 2007 files.
C. The Data import was unsuccessful because the option Read variable names from the
first row of data was not selected.

D. The Data import was unsuccessful because the Excel file was open the import to IBM
SPSS Statistics was initiated.

Answer: C

QUESTION: 68

In order to import data from database sources such as Access and Oracle into IBM SPSS
Statistics; you must first export data from the database to a text file and then import this
text file into IBM SPSS Statistics?

A. True
B. False

Answer: B

QUESTION: 69
Suppose you want to get help on the Cumulative Percent column in a FREQUENCIES
table. Using the figure below how would you do it?
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A. Go to Help Topics and search for Cumulative Percent

B. Go ID Help Command Syntax Reference and search for Cumulative Percent

C. Go to Help About

D. Double-Click the table, right click Cumulative Percent and select What's this? from
the pop-up menu.

Answer: B

QUESTION: 70

There are two major types of errors one can make when attempting to draw conclusions
about the larger population based on the information collected in the sample. For
example, when performing an independent sample T-Test, one type of error that can
occur is when there are significant differences between the groups based on a scale level
dependent variable, but the test fails to detect them. Which of the following choice
describes this sort of error? (Select all that apply)

A. Type | error
B. Type Il error
C. False negative
D. False positive

Answer: A
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